PeweHue 3apau c
MOMOLLLIO

ypaBHEeHUMU




[lpoBepka AomMallHero 3agaHuns
Ne 596
a) (250+25)-4= 250-4 + 25-4 = 1000+100=1100
0) 6 -(150+16)=6-150 + 6-16 = 900 + 96 = 996
B) 8:11 + 8:29=8 -(11+29)=8 - 40 = 320
r) 36-184 + 36:816=36 -(184+816)=36-1000=36000

Ne 600

B) 49z —z =384 r) 102k - 4k = 1960
48z = 384 98k = 1960
z =384:48 k =1960:98
z=38 k=20

OTBeT:8 OTBeT:20




3agada Ne 571.

lyCTb X KIr — Macca oaHou
4yacTtu |

Myka | 6xkr }

OTtpybn 2xkr 1000 Kr
6X +2X =1000

8X=1000

X=1000:8

X=125

125 Kr — macca ogHOU 4YacTu
6 - 125=750 Kr — macca MyKu
OTBeT:750 Kr.




pyyKa CTOUT X pyoneun
KapaHaall CToOUT y pyonen
X+ y

X=y

4X + 5y
3 (X +Y) ?

2X — 3y




dx+1 =9

exAn










[lomaluHee 3agaHue
[lpunoxeHne 3
[lppaymatb 3agady,
peLaemylto
C NOMOLLbIO YpaBHEHUA




